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Identify the characteristic of introvert Personglj
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Which is the main Boverning body responsible for the organization  of
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(b)) National Sports Federation: e
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- TE Body Mnss Index ns one of the common way of assessing healthy
body weight. W'luch of the following BMI range is considered for healthy

16.

17.

18,

weight ?
(2) 25.0-29.0 by 30.0-34.9
(c)* 18.5-24.9 (d) 85.0-239.9

In partial curl up test the difference
(a) 8inches

(¢) 6 inches

between two parallel lines is
(b 4 inches
(d)« 10 inches

Goal setting is g - ,
y under motivational technique.
(a) Cognitive

: (b) Pedagogical
Social
© (d)* Facilitation
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(a) Physical Mobility (®)  Upper Body Flexibility

(c)» Lower Body Z_E‘lexibi]ity (d) Upper Body Strength
(For Visually Impaired Candidates Only)

Which of the following tést determines the upper body strength of a senior
citizen ?

1=

(a) Chair Stand Test (b) Back Scrateh Test
(c) Arm-Curl Test (d) Chair sit and Reach test
SECTION - B

(Attempt any 5 questions)

19. Describe the second class lever with suitable example from sports.

20. Enlist four test items of Johnson — Metheny Test of Motor Educability.
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32. Study the pictures given below :

Image-1 Image-2 Image-3
Based on the above study and your knowledge,

answer the following questions :

Which type of fracture you see in image-17?
e-2, it is known as

()

(b) When a bone breaks diagonally as shown in imag

(c) fracture occurs when the broken ends of the bones are
by the force of the injury.

jammed together
splinted, or crushed into

(d In which type of
number of pieces ?
Impaired Candidates Only)

(For Visually

Describe types of fracture. (Any Four)
| P.T.O.
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33.  Study the fixture given below :

Nner team plays least numibiy of
hich Jumber of team g the winner 2
(c) 4t s the f, ula for caleulating nyumper of matches in g knockout
t'DLll"Ilﬂ Ment o
(d) If 15 teams g

Participatip

many byeg will he given tg

(d) What IS the formul, for

. knockout tournameny ?
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SECTION - g
(Attempt any 3 questions)
% What do You understang by Aggression In sports 9 Explain an

¥ 2 types of
Aggression by giving suitable examples from sports,

1+242
5. What is Balanceg Diet ? What is the signifieance of pre gng post .
Competition meals for ap athlete ? Explain. 1+2+

5 What do You understand by projectile trajectory

? Explain the factors
affecting projectile trajectory in sports.
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il What is Endurance ? Explain any two types of Endurance on the basis of+2+2
Uration of the activity with suitable examples from sports,
1l?;'. 15
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